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Part A 
Amwer all questions on this question paper its·elf. 

• Area of the curved surface of a right circular cylinder of radius r and height h is 2 ;r. rh.
22 • Wherever necessary, use — for the value of :,r .
7 

1. It has been estimated that it wi11 take 10 men 6 days to complete a certain task. Find tbc
number of days it will take 8 men to complete a job which is double that task.

15 days ® 
Amount ofwork = 10 X 6 X 2 man days - 1 

2. Factorize: 2x2 + x ― 6

(x + 2)(2x -3) 
2x2 +4x-3x-6 

-
1 

® 

3. Find the value of x based on the information given in the figure.

X = 25 

x
0 

+ 3x0 + 80
° 

= 180
° 

-
I

® 

Q
o 

3x0

k
 

4. In the figure, ABCD is a square; BCE is a sector. Find
the perimeter of the composite figure.

D―7cm――-c 
’ 

39cm 

1 22 ::.xzx=x7 
4 7 

® 

AtJ 

...
 El
B E

 
4 5. Simplify: 一 - 一
X 2x 

7 
2x 

8-1 
"zx

-

1

®
.
'
 

6. In the figure, ABC is a straight line. Find the magnitude of DAB based on the given infoITT1ation.

DAB = 60
° 

BDC= 30
°

-
I 

® 

A D B 
3。。 c

7. 26.3 = 101 .42 .
What is the value of lg 26.3?

1.42 ® 
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21. Write the 7th term of the geometric progression with first term 8 and common ratio 2, as a
power of 2.

T7 = z9 

T7 = 8 X 26 

O

1

 

끄. Find the gradient of the straight line that passes through the points (0, 8) and (2, 4). 

G『adient = - 2 --·····` .. 鬱鬱- .̀ . •  --- -- ® 

4 = m x 2 + 8 or 눈 1 

꼬 The first quartile of an array of data that has been arranged in ascending order is in the 7th 
position. How many data are there in this array? 

27 - 一 ―_ ®

1 :;(n+1)=7�1

24. Simplify: � + 오
tob 5b 

a
-

6

® 

3a Sb ―x-
10b 9

1

 

25. In the given figure, ABCE is a parallelogram. The 4 points
A, B, C and D lie on the circle. Find the magnitude
of ECD based on the given information.

ECD=20° -=®

^ 

BCD = 100° or BCE = 80° -= 1 F
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Part B 

Answer all questions on this question paper itself. 

2 1. A man intended to distribute a certain amount of money he had, by giving .;. to his wife and

1 

5 

the remaining amount equally to his three sons. However, he had to give 7 of this amount to
6 

his brother before he distributed it as intended. He distributed the remaining amount as originally 

intended. 

(i) What fraction of the initial amount that the man had. did the wife receive?
2 5 Fraction the wife received = = of = 
5 6 

I.J.l

1 ®
(ii) What fraction of the initial amount did he have remaining after giving his brother and his

wife? 1 , 1 5 1 Portion given to his brother and wife = ; + � or ; - �6 . 3 -. 6 3 

1+2 5-2 = — or ―

Remaining portion = i 
-

1 @ 
(iii) The amount a son received was 40 000 rupees less than the amount he was to receive

originally. Find the amount the man had initially.
1 _ 1 1Portion received by a son now = :: of :: = �
3 2 6 

1 _ 3 1 Portion a son was to receive = -= of -=- = -= ·
3 5 5 

1 1 1 Reduced portion = － － - ＝ —
5 6 30 

Amount = Rs. 1200000 @
 巨

2. How a student travelled from his home to school is shown in the given distance-time graph.

(i) For how long did the student stop
in between?

20 minutes 1 0 

(ii) Find the speed at which he travelled
during the initial 30 minutes in
kilometres per hour.

6 Speed = IT /2 
= 12 kilometres pe『 hour 

-
1 10lOT

 
®

·
16
14
12 -
叫
衍
6l
4
A

0

(s
ana
EoIp＿)
8
음
꾹G
 

(iii) What multiple of the speed at which he travelled the initial 30 minutes is the speed at which
he travelled the final 20 minutes?

Speed in Ihe final 20

1

minutes = 
: 

== 18 kiIometres per hour _＿ ― l+I 

. The finaI speed is 1- times the intiaI speed - l @ 
(iv) If he travel邸 the whole distance without stopping, in-the same speed at which he travelled

the initial 30 minutes, draw the relevant g.raph on this figure itself.
In this case, how many minutes earlier would the student be able to complete the journey?

Indicating on the figure � 1+1 

10 minutes earlier ® 己
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3. (a) Customs duty of 30% is charged when electrical items are imported. If 9 000 rupees has to
be paid as customs duty when an item of this type is imported, what is the value of the 
item which is being imported? 

Value = Rs. 9000 x 100 
一 -, 2
30 

= Rs. 30000 ® 

(b) (i) The annual assessed value of a house is 30 000 mpees. If the municipal council charges
annual rates of 8% on this property, find how much has to be paid as rates for a quarter. 

Annual rates = Rs. 30 000 X tiio ― -
一 1 

2400 
Rates for a quarter = Rs. � 

--=-----=--

1 

= Rs. 6-00 

-

1 a) 
(ii) After several years, the assessed value of the house changed. The annual rates percentage

that the municipal council charges also increased to 9%. If the amount to be paid as
rates for a quarter increased by 30 rupees as a result, find the new annual assessed value
of the house.

The new rates for a quarter = Rs. 600 + 30 
Total rates = Rs. 630 x 4 

\
1

_
l

 

Annual value = Rs. 2520 X 100 

�

-

I

= Rs. 28000 — - － － l @

曰
4. (a) A bag contains 3 vanilla flavoured milk packets and 2 chocolate flavoured milk packets of

the same size. After Kamala takes out a milk packet randomly, Nimala also takes out a milk 
packet randomly. 

(i) Using the symbol 'x', represent the sample space
of the above experiment in the given grid . The 
vanilla flavoured milk packets are denoted by 
V

1 
, V

2 
and V

3 
and the chocolate flavoured milk 

packets are denoted by C
1 

and C
2
. 

l cz1---�-－－-r---r---r-－－기 

i:j_\二」~」v 
I I 

Ma,k;ng 'x' w;tbout the d;agonal =® ::l\＼〔〔〕〔\＼;
’ 

vi Vz V3 c, C2 
Kamala's taking 

(ii} In the grid, encircle the event of both of them taking out vanilla flavoured milk packets 
and find its probability. 

Encircling 
Identifying lO elements in the somple spocc -==·一누一二：一 1 

6 3 Probability = 一 or -
20 10 

® 
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(b) The probability of a certain sports team

winning the first game they participate in

3 is 一 . If they win the first game, then the

probability of them winning the second game
7 is 一 If they lose the first game, then the10 

probability of them winning the second game

l 
2 

is ― . An incomplete tree diagram drawn to 

represent this infonnation is shown in the 
figure. 

First Game Second Game 

Win 〈\

s
e

1

i-�
Win 

2 
___,- Win 

Lose 
5 ― 1

Lose 

(i) Complete the tree diagram by indicating the relevant probabilities.

(ii) Find the probability of the team winning at least one game.
-－－-－_．－® 

(농습) + （長습) + （令당) 
40 4 = － or -
50 -- 5 ® 

三
S. Given below is a grouped frequency distribution of 48 continuous data. All the data which are

greater or equal to 10 but less than 20 belong to the class interval 10- 20. Likewise, the other
class intervals . 

Class Frequency Cumulative 
Interval frequency 
10-20 6 6 
20-30 8 14 

30-40 l2 26 
40-50 l5 4l 

50-60 5 46 

60-70 2. 48 

(i) Fill in the blanks in the table.
41, 46, 2, ® 

Cum\＇ntivc
frcqu�ncy .I 

J 

« 

30 

요 

16 

o · 10 ao . $0 : r'fO . �o 60 - 70 

Class Interval 

(ii) Draw the cumulative frequency curve on the given coordinate plane and thereby obtain the
median of tlie frequency distribution.

Ma『king the axes 
Joining to the point (10, 0)
Marking at least four points other than (10, 0) correctly -----==-= 1 
Drawing the curve 
Median 38 or 39 ® 

(iii) By how much does the median th착 was obtained in part�viate from-the midpoint
of the class interval it belongs to?

38 - 35 or 39 - 35

3 or4 ® 巨
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Paper II (Part A) 

1. The following notices have been issued regarding the interest paid by two banks A and B for
deposits.

A

An annual simple interest of 
5.2% for your deposit! 

B 

An annual compound interest 
of 5 % for your deposit! 

Saman had 80 000 rupees . He deposited exactly half of it in bank A and the remaining half in 
bank B. 

(i) Find the interest that Saman receives for a year from his deposit in bank A.

(ii) For his deposits, from which bank will he receive a greater income at the end of two years?
Give reasons for your answer.

(iii) After two years Saman added the amount he initially deposited and an extra amount to the
total income he received from the two deposits and invested this whole amount to buy shares
of a comp血y. The market price of a share of this company is 50 rupees. The company pays
a dividend of 2 rupees per share ann삐ly. He received a dividend income of 3600 rupees
at the end of a year. Find the extra amount he added when he boqght the shar젊 

Question No. Markin2 Scheme Marks Other facts 

® (i) Interest received by Saman == Rs. 40000 x -=-5.2 1 
100 

1 ® = Rs. 2080 

(ii) Income for two years from bank A = Rs. 4160 1 
5 1 Income for the first vear from bank B = Rs. 40000 X 
―
10

_0 

Income for the second year = Rs. 42000 X —5 1 100 
Total income from bank B = Rs. 4100 1 

Since Rs. 4160 > Rs. 4100 he receives a 1 ® greater income from bank A 

(iii) Number ofshares = 1800 
1 

Amount invested = Rs. 1800 X 50 1 

:. Extra amount added = Rs. 1740 
1 

® 

左
三
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2. The sum of the lengths of two adjacent sides of a rectangle is 16 cm and the length of a diagonal
is 14 cm. Show that, when the breadth of the rectangle is taken as x cm, it satisfies the quadratic
equation x2 - 16x + 30 = 0, and find separately the length and the breadth of the rectangle to
the first decimal place.
(Use 5.83 for the value of J34 .)

Question No. Markine; Scheme 

® (i) Ifthe breadth ofthe rectangle is x cm,
the length = (16 - x)cm

By Pythagoras' theorem

x2 + (16 -x)2 = 142 

균 + 256 -32x + 균 = 196

2균 -3 2x + 60 = 0

x2 - 16x + 30 = 0

(x ― 8)2 = ―30 + 64

x-8= 士范

x = 8 + 5. 83 or x = 8 - 5. 83 

x = 13. 83 or x = 2. 17

:. Length = 13. 8 cm 

Breadth = 2. 2 cm 

I 

1 

1 
1 

1 

1 

1 

1 

1 

Marks 

_ ＿ •.• _ 諭

-----

---- -

-----

〕

三〕

Other facts 

16 土 ✓256 - 4 X 1 X 30 
- x- = 2 

x=8土沼
-·· 
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3. y is a quadratic function of x. An incomplete table containing the values of y corresponding to

several vaJues of x is given below.

三-(i) By considering the symmetry of the quadratic function, obtain the value of y when .x ;;;; 4.

(ii) Using the standard system of axes and a suitable scale, draw the graph of the quadratic function
on a graph paper based on the above table of values.

(iii) Describe the behaviour of y as the value of x increases from O to 2.
(iv) Express the quadratic function in the form y = (x - a)2 + b:
(v) y = t js a straight line parallel to the x-axis. What is the interv_al .in which t shou�d 

_ 
lie ��r

thjs straight tin; and the graph of the quadratic function to intersect at two points with
positive x-coordinates?

Question No. Markin2 Scheme Marks Other facts 

® (i) y = 1 when x = 4 I 。

(ii) Correct scale 
I 

Marking 5 points correctly I 

® Smooth curve 1 

(iii) Positive and decreasing from 1 to 0 
] 

Negative and decreasing from O to -3 1 ® 

(iv) l+l ® y = (x ― 2)2 - 3 

(v) 
l+l 

® -3 < t < 1 

左
曰
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4. The number of fours and sixes the winning team hit in a cricket match was 38. The number of

runs scored from only fours and sixes was 176.

(i) Take the number of fours bit as x and the "°!11�r or, sixes hit as y, and construct a paii
of simultaneous equations by using the abov� infonnation. 

(ii) By solving the pair of simultaneous equations. find separately the number of fours and the
number of sixes that were hit.

(iii) If the number of sixes bit by the losing team is a. then it sa_tisfi� �e inequality 2(2a-5)+3a-s54.
find the maximum number of sixes the losing teain may have hit.

Question No. Markin2 Scheme Marks Other facts 

® (i) x+y = 38 。 ’ 

4x+ 6y = 176 ® 
t ® 

(ii) (1) X 4, 4X + 4y = 152 ® ’ 

y = 12 ’ 

X + 12 = 38 1 

x=26 1 
Numbe『 •"•"" b;t - 가 
Number of sixes hit = 12 ® 

(iii) 2(2a- 5) + 3a � 54 
7a � 64 1 

64 1 a:::; — 

7 

Maximum number ofsixes = 9 
’ ® 

^ 
三

빼
 

A
/
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5. The base of a cuboid shaped glass container of height one metre is a ��-e. !h� _
length of a

�id; �f-;h;·base is 25 cm: The-container is filled with water to exactly half its height. 

(i) Find the volume of water in the container in cubic centimetres.

(ii) Rani has several identical solid right circular metal _ cyli�ders of �nknown �e rad_iu_
s
_ �� 

height l0 cm. To find the base radius r of a cyIinder, she puts them one by one into the 

�.;;�� container half filled with water. When exactly 25 of them are put, the water reaches 
the level of the container being completely filled. 

Show that r = sj¾ cm. 

(iii) Find the value of ·, in centimetres to the first decimal place, by using 3 .14 for the value of n.

Question No. Markin2 Scheme Marks Other facts 

® (i) Volume of water = 25 X 25 X 50

(ii) 

(iii) 

’, 

卜

= 31250 cm3 

Volume of the 25 cylinders 
= Tr X 규 X 10 X 25 

7r X 규 X 10 X 25 = 25 X 25 X 50 
2 125T= — 

n느 

2 25 X 5 
r = n·

r=5瓜

r=5x 福
1 

lg r = lg 5 + 2 {Ig 5 - lg 3. 14}

1 
= 0. 6990 + �2 {O. 6990 - 0. 4969}

= 0.8001 
r = 6.3 cm 

’ 
O 

rr x 규 X 10 X 25 = 31250 ’ 
’ 
1 

l ® 

Sx 鳥
’ 5로 ―― 1 

5 X (1. 261r-- 2 

1+1 
6.305-1 

I 

® 
6.3 cm---- 1 1 

瓜
曰
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6. Nimal is involved in a small industry which produces sports items. Infonnation r�ga�d��g �he
number of items he produced each day during a period of 50 days is shown in the foIIowing

frequency distribution.

N umber of Items 

Number of Days 

20 - 30 

5 느
0

| 三-P;
70 

8 I lO I 12 I 9 

70- 80 

6
글 

Nimal gains a profit of 60 rupees by selling one of these items. He expeets to gain a profit of

370 000 rupees during the next 120 days by working and selling the items in the above manner.

Find the �ean number of sports items he produces in a day, in a dav. and show with reasons whether his

expectation is fulfilled. 

.,. 

Question No. Marks Other facts 

® (i) 

Markine Scheme 
Number I Number Midvalu• of i.ttms of days (x) (fx) 

20-30 5 25 125 
30-40 8 35 280 
40-50 10 45 450 
S0-60 12 55 660 
60-70 9 65 585 
70-80 6 75 450 

.2:fx 
:Ef= 50 = 2550 

x column 
fx column 

l:fx 
Mean number ofsports items 

=땀
2550 

1

2

1
 

fd column - 2 

( Disregard one error in the 
fx or fd column ) 
l:fd-1 

50 
= 51 

Profit expected du『ing 120 days 
= Rs. 51 x 60 x 120 I 1+1 

= Rs. 36720。 I 1 

Rs.367200 < Rs.370000 
} 

:. His expectation is not fulfille� \
」
」
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Paper II (Part B) 

7. A decoration consists of several circles containing small bulbs. There are 5 bulbs in the first
circle, 9 bulbs in the second circle, 13 bulbs in the third circle, and so on. Starting from the first
circle, when the number of bulbs in each of the circles is considered in order, they are in an
arithmetic progression.

(i) How many bulbs are there in the 10th circle?
(ii) If the total number of bulbs in the first n circles is S

n
• show that S

n
= n (2n + 3). 

(iii) If the decoration consists of 40 circles, find the total number of bulbs in the decoration.
(iv) Among the circles, starting from the 10th circle, every circle which counts as a multiple of 5

consists of only yellow bulbs while all the other bulbs are red. Find the number of red bulbs
in the decoration.

Question No. Markin� Scheme Marks Other facts 

® (i) 

(ii) 

(iii) 

iv) 

Tn = a + (n — 1)d 

T10 = 5 + (to - 1) x 4 

=41 

Sn = � {2a 十 (n — 1)아 or 
2 

n = :;-2 {2 X 5 + (n - 1)4}
n = 2(4n+ 6)

= n(zn+ 3) 

S40 = 40 (2 X 40 + 3) 

= 3320 

a = 41, n = 7, d= 20 

Number of yellow bulbs = 707 
:. Number of red bulbs = 2613 

1 

1 

1 ® 

l 

1 

1 。

1+1 For two correct 
values 

1 

1 
® 

八
三
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8. Use only a straight edge with a cm/mm scaJe and a pair of compasses for the following constructions. 
Show the construction lines clearly.

(i) Draw a straight line segment AB of length 7. 5 cm and construct its perpendicular bisector.

(H) Take the midpoint of AB as C and construct a semicircle with C as the centre and AB as
the diameter.

(iii) Construct the locus of a point that moves at an equal distance from the perpendicular bisector 
of AB and the line CB and name the point at which it intersects the semicircle as P.

(iv) Construct the tangent to the semicirele at P and name the point at which it meets the 
perpendicular bisector of AB as D.

(v) Construct the other tangent that can be drawn to the semicircle from D and give reasons 
why this tangent is parallel to the line PC.

Marks Other facts Question No. 

® (i) r 
1 

2 ® 

(ii) I ® 

(iii) 
I 。

(iv) 
2 ® 

(v) 
1 

1 

Markin2 Scheme 

The straight line AB 
The perpendicular bisector 

Semicircle 

Angle bisector 

Tangent 

The other tangent from D 
° 

Obtaining EDC = 45
Giving reasons for being parallel ® 

八
三〕

A
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9. In the parallelogram ABCD shown in the figure, M is the midpoint of the side AD. The poi:
intersection of BM and AC is R. Moreover, the lines BM and CD produ,ced meet at Q.

o
i

 

c
 

Copy this figure in your answer script. 

(i) Join AQ and BD, and show that ABDQ is a parallelogram.

(ii) Show that 罰 = 강 and that QR : 2RB. 

Question No. Marking Scheme Marks Other facts 

® Q
 

\A
 

C. 

(i) I In the trangles QDM and AMB,
DM = MA (given)
QDM = MAB (alternate angles, QCIIAB) 
DQM = MBA (alternate angles, QC II AB ) 
:. 6QDM = MMB (A.A.S.) 

:. QM = MB(corrcsponding sides of congruent 6s ) 
.·. ABDQ is a parallelo양am (diagonals bisect) 
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ẁ

Cr

A

R

C

C

d
 

gl
 

an
(
C
(
R
-
B

an
 

R

 

i

B

B

R

 

r

 

t
-＿

＝

=

M

 

”

 

e
 R

A

R

 

A
(
R
(

AM
.”

 

th
 

ln

M

M

 

、,'
.
1
.
l
 
(
 

1

1

 

@
 

MR AM ... ＝ 
RB BC 

2AM = BC (M is the midpoint ofAB) 

MR AM 
詞 = 四

MR 1 

릅:M7(DIag\aIs ofn paraIILOgram bISeCl’ ach 

QM= MR+RB 

QM + MR = �R + M,R + RB 

QR '"'RB+ RB 민 
QR == 2RB 〈

—
®

 

I
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12. fn the given figure, the tangent drawn to the circle with centre 0, at the point A, is XAY . The
chord AB bisects XAO . The diameter AD ha'> been produced to E and the point C lies on the
circle between the points B and D. Moreover, the point of inte『section of AC and OB is P. 
With reasons show that, － 

一
一__ ―_c

(i) ACB = 45° 

(ii) YAC = CDE 

(iii) BPC = oi5c .

X 
E
 

Y

 

Question No. Markine Scheme Marks Other facts 

12. 

X .
 

E 

y 

(i) OAX = 90
° 

(angle between the tangent and radius) I
1 

1 BAX = BAO = 45° (OAX is bisected by AB > 

BAX ::; ACB (angle in the alternate segment) 
} 

l+I I ©
:. ACB= 45 

(ii) CDE = CHA (Exterior angle of a cyclic 1 

quadrilateral is equal to its interior opposite 
angle) 

I® YAC = ABC (angle in the alternate segment) } 1 :. YAC= CDE 

(iii) I BOA = 90° (2 BCA = BOA) 
ACD = 90

° 

(angle in a semicircle) 
:. PODC is a cyclic quadrilateral (opposite angles 

1 I® are supplementary) 
:. BPC = ODC (Exterior angle of a cyclic 

1 quadrilateral is equal to its inte『ior opposite 
angle) 
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11 fY%aKsh - flá igyka
isxy, udOH

10-11 isxy, jHdlrK

10-11 isxy, idys;Hh ridiajdoh

nqoaO O¾uh

lf;da,sl O¾uh

isxy, NdIdj yd idys;Hh

isxy, idys;Hh ix.%yh

English Language

.Ks;h - 1

.Ks;h - 2

Ôj úoHdj

fN!;sl úoHdj

ridhk úoHdj

b;sydih

jHdmdr yd .sKqïlrK wOHhkh

N+f.da, úoHdj

mqrjeis wOHdmkh

fmrÈ. ix.S;h

k¾;kh

kdgH yd rx. l,dj

Ñ;% l,dj

f;dr;=re yd ikaksfõok ;dCIKh

ikaksfõokh yd udOH wOHhkh

fi!LHh yd YdÍßl wOHdmkh

lDIs yd wdydr ;dlaIKh

.Dy wd¾Ól úoHdj
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10-11 English Literary (Short Story)

Grade 11 - Model Papers
English Medium

Civic Education

10 fY%aKsh - flá igyka
isxy, udOH

nqoaO O¾uh

lf;da,sl O¾uh

isxy, NdIdj yd idys;Hh

isxy, idys;Hh ix.%yh

isxy, rpkd w;aje,

English Language

.Ks;h - 1

.Ks;h - 2

Ôj úoHdj

fN!;sl úoHdj

ridhk úoHdj

10 iy 11 fY%aKs i|yd .%ka: kdudj,sh
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b;sydih

b;sydih rEm igyka wY%s; flá igyka

jHdmdr yd .sKqïlrK wOHhkh - 1

jHdmdr yd .sKqïlrK wOHhkh - 2

N+f.da, úoHdj

mqrjeis wOHdmkh

fmrÈ. ix.S;h

k¾;kh

kdgH yd rx. l,dj

Ñ;% l,dj

f;dr;=re yd ikaksfõok ;dCIKh

ikaksfõokh yd udOH wOHhkh

fi!LHh yd YdÍßl wOHdmkh

lDIs yd wdydr ;dlaIKh

.Dy wd¾Ól úoHdj

cmka NdIdj

10 fY%aKsh - m%Yafkda;a;r
isxy, udOH

isxy, NdIdj yd idys;Hh

nqoaO O¾uh

.Ks;h

úoHdj

b;sydih

mqrjeis wOHdmkh

N+f.da, úoHdj

fmrÈ. ix.S;h

mdvfuka mdvug udisl we.hSï
isxy, udOH

10-fY%aKsh - úoHdj

11-fY%aKsh - úoHdj

Grade 10 - Short Notes
English Medium

Buddhism

Mathematics - 1

Mathematics - 2

Biology

Physics

Chemistry

History

Business & Accounting Studies - 1

Business & Accounting Studies - 2

Geography

Civic Education

ICT

Health & Physical Education

Grade 10 - Model Papers
English Medium

Mathematics

Science

Civic Education

Geography

English Activity Book

English Work Book

wfkl=;a .%ka:
fy<Èj l;sldj;
- wreKYdka; wurisxy

fyd,auka wj;dr iy hlÿrka
- wreKYdka; wurisxy

isiq-.=re w;afmd; kdgH yd rx.
l,dj 10-11 fY%aKs i|yd ^kj úIh
ks¾foaYh& - kkaok w,af.aj;a;

ish¨ u fY%aKs i|yd flá igyka" m%Yak m;% lÜg, iy

jev fmd;a wm i;=j ;sfnk w;r" fuu ´kEu .%ka:hla

jÜgï iys; j Tfí ksjig u f.kajd .; yels h'
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